

BOARD OF COUNTY COMMISSIONERS HERNANDO COUNTY, FLORIDA CONSTRUCTION AGREEMENT

This Contract, entered into this	day of	, 20,	by and	between	the	Hernando
County Board of County Commissioners,	, hereafter called th	e COUNTY, and Goodw	in Bros.	Construc	tion,	Inc.,
hereinafter called the VENDOR/CONTR	RACTOR. Owner	and Vendor/Contractor,	in cons	sideration	of th	ne mutual
covenants hereinafter set forth, agree as	follow:					

DR. DENNIS WILFONG CENTER FOR SUCCESS/INFRASTRUCTURE - REBID

ITB NO. 23-CG0215/JG

BROOKSVILLE, FLORIDA

ARTICLE 1 - CONTRACT DOCUMENTS

1.01 The Vendor/Contractor shall furnish all labor, equipment and materials and perform the work above described for the amount stated above in strict accordance with the General Conditions, Special Conditions, Supplementary Conditions, Exhibits, Plans, Specifications, and other Contract Documents, all of which are made a part hereof and designated as follows:

1.01.1 The Contract Documents for Bid No. 23-CG0215/JG consist of the following:

Solicitation-Offer-Award

General Requirements and Technical Specifications

Advertisement of Bid

Bid/Proposal Pricing

Solicitation Instructions

Required Forms and Certifications

General Conditions

Construction Agreement and Required

Special Conditions

Documents After Award

Supplementary Conditions for Federal/State Requirements

Attachments/Reference Documents

Exhibit A – Plans/Drawings
Exhibit B – Geological Report

Scope and Specifications

All addenda issued by the County prior to the receipt of bids and all supplementary drawings issued after award of the Contract become part of the Contract Document.

Amending and Supplementing Contract Documents:

The Contract Documents may be amended to provide for additions, deletions, and revisions in the work or to modify the terms and conditions thereof by Change Order.

The requirements of the Contract Documents may be supplemented, and minor variations and deviations in the work may be authorized, by one (1) or more of the following ways:

- A Field Order:
- Engineer's approval of a shop drawing or sample; or

3. Engineer's written interpretation or clarification per the provisions described in the Contract Documents.

In resolving such conflicts, errors and discrepancies, the documents shall be given preference in the following order: Agreement, Specifications, Drawings, Solicitation Instructions. Within the specifications the order of preference shall be as follows: Addenda, General Conditions, Technical Specifications. Figure dimensions on drawings shall govern over scale dimensions, and the detailed drawings shall govern over general drawings. Any work that may reasonably be inferred from the specifications or drawings as being required to produce the intended result shall be supplied whether or not it is specifically called for. Work materials or equipment described in words which so applied have a well-known technical or trade meaning shall be deemed to refer to such recognized standards. In case of conflict the more stringent requirements shall take precedence and govern.

The Vendor/Contractor shall take no advantage of any error or omission in the plans or of any discrepancy between the plans and specifications, and the Engineer shall make such interpretation as may be deemed necessary for the fulfillment of the intent of the plans and specifications as construed by him and his decision shall be final.

All provisions required by law to be inserted in this Contract, whether actually inserted or not.

Exhibits to this Agreement (as follows):

- 1. Vendor/Contractor's Bid
- 2. Documentation submitted by Vendor/Contractor after the Notice of Award:
 - a. Insurance Certificate
 - b. Payment and Performance Bond
- 1.02 The following which may be delivered or issued on or after the Effective Date of the Agreement and are not attached hereto:
 - 1. Notice to Proceed
 - 2. Change Order(s)
- 1.03 The documents listed in the Article are attached to this Agreement (except as expressly noted otherwise).
- 1.04 There are no Contract Documents other than those listed in this Article
- 1.05 The Contract Documents may only be amended, modified, or supplemented as stated in solicitation Section Titled "SPECIAL CONDITIONS", paragraph 16. Titled "Changes in the Work; Claims".

ARTICLE 2 - THE ENGINEER

2.01 Engineer in the administration of this Contract and any references to the Engineer or the Professional shall be deemed to mean **Brian M. Malmberg**, **P.E.**, **Coastal Engineering Associates**, **Inc.**, for the plans and specifications. **Erik van de Boogaard**, **Hernando County Construction Projects**Coordinator will act as the Owner's representative, assume all duties and responsibilities, and have the rights and authority assigned to Engineer in the Contract Documents in connection with the completion of the work in accordance with their respective scope of work and the Contract Documents.

ARTICLE 3 - CONTRACT TIMES

- 3.01 <u>Time of the Essence</u>:
 - **3.01.1** All time limits for completion and readiness for final payment as stated in the Contract Documents are of the essence of the Contract.
- 3.02 Days to Achieve Substantial Completion and Final Payment:
 - 3.02.1 Vendor/Contractor agrees that the work will be substantially complete within one hundred eighty (180) calendar days after the commencement date indicated in the Notice to Proceed and ready for final payment within one hundred ninety-four (194) calendar days after the date indicated on the Notice to Proceed.
- 3.03 Liquidated Damages:

Vendor/Contractor and Owner agree for each consecutive calendar day that the work remains incomplete after the Contract date established for Substantial Completion and/or Final Completion, the County will retain from the compensation otherwise to be paid to the Vendor/Contractor the sum of **four hundred** (\$400.00) per day. This amount is the minimum measure of damages the County will sustain by failure of the Vendor/Contractor to complete all remedial work, correct deficient work, clean up the project and other miscellaneous tasks as required to complete all work specified.

ARTICLE 4 - CONTRACT PRICE

- 4.01 Owner shall pay Vendor/Contractor for completion of the work in accordance with the Contract Documents an amount in current funds equal to the sum of the amounts determined pursuant to the paragraphs below:
 - **4.01.1** For all work other than unit price work, a Lump Sum of:

One Million, Eight Hundred Ninety-Four Thousand, Six Hundred Sixty-Six and 20/100 (\$1,894,666.20) (figure)

All specific cash allowances are included in the above price and have been computed in accordance with solicitation Section Titled "SPECIAL CONDITIONS", paragraph 17. Titled "Cost of the Work; Allowances; Unit Price Work", subparagraph B. titled "Allowances" item no. 2. Titled "Cash Allowances".

4.01.2 For all unit price work, an amount equal to the sum of the established unit price for each separately identified item of unit price work times the estimated quantity of that item as indicated in this Paragraph:

As provided in solicitation Section Titled "SPECIAL CONDITIONS", paragraph 17. Titled "Cost of the Work; Allowances; Unit Price Work", subparagraph C. titled "Unit Price Work", estimated quantities are not guaranteed, and determinations of actual quantities and classifications are to be made by Owner Designated Representative as provided in solicitation Section Titled "SPECIAL CONDITIONS", paragraph 17. Titled "Cost of the Work; Allowances; Unit Price Work", subparagraph C. titled "Unit Price Work", paragraph 17. Titled "Cost of the Work; Allowances; Unit Price Work", subparagraph C. titled "Unit Price Work".

UNIT PRICE WORK

GENERAL CONDITIONS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
1	Mobilization	1	LS	\$23,575.00	\$23,575.00
2	Insurance, Permits, and Performance & Payment Bond	1	LS	\$23,365.00	\$23,365.00
3	Maintenance of Traffic	1	LS	\$3,450.00	\$3,450.00
4	Survey Layout/As-built	1	LS	\$28,129.00	\$28,129.00
5	Pre/Post Video	1	LS	\$575.00	\$575.00
6	Erosion Sediment Control (includes NPDES Permit/Inspection Report/NOT	1	LS	\$1,725.00	\$1,725.00
TOTA	TOTAL				\$80,819.00

CLEARING, GRUBBING AND EARTHWORK

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
7	Clearing/Grubbing (includes DRA & Floodplain Comp)	20	AC	\$3,910.00	\$78,200.00
8	Embankment Excavation, Filling and Grading	1	LS	\$75,977.78	\$75,977.78
9	Temporary Construction Access	1	LS	\$1,060.00	\$1,060.00
10	Silt Fence Installation and Removal	5,800	LF	\$1.32	\$7,656.00
TOTA	NL		1		\$162,893.78

STORM DRAINAGE

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
11	15" RCP	68	LF	\$56.22	\$3,822.96
12	18" RCP	508	LF	\$60.40	\$30,683.20
13	24" RCP	92	LF	\$86.53	\$7,960.76
14	29" x 45" ERCP	104	LF	\$244.49	\$25,426.96
15	30" RCP	266	LF	\$128.21	\$34,103.86
16	42" RCP	266	LF	\$216.80	\$57,668.80
17	48" RCP	334	LF	\$263.40	\$87,975.60
18	FDOT Gutter Type V Inlet	6	EA	\$5,298.13	\$31,788.78
19	FDOT Type C Inlet	1	EA	\$3,349.02	\$3,349.02
20	FDOT Type F Inlet	2	EA	\$10,516.58	\$21,033.16
21	FDOT Type G Inlet	1	EA	\$8,386.58	\$8,386.58
22	FDOT Type 7 Inlet	1	EA	\$8,011.28	\$8,011.28
23	24" MES	3	EA	\$902.75	\$2,708.25
24	29" x 45" MES	2	EA	\$4,110.10	\$8,220.20
25	48" MES	1	EA	\$5,709.75	\$5,709.75
26	Rip Rap	650	SF	\$5.52	\$3,588.00
27	Concrete Weir with Skimmer	1	EA	\$12,150.95	\$12,150.95

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
28	Sod DRA Side Slopes	13,800	SY	\$2.65	\$36,570.00
29	Seed and Mulch DRA	56,000	SY	\$0.30	\$16,800.00
TOTA	\L	•			\$405,958.11

SANITARY SEWER

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
30	8" PVC SDR 26 (0'-6')	350	LF	\$52.13	\$18,245.50
31	8" PVC SDR 26 (6'-8')	350	LF	\$57.88	\$20,258.00
32	8" PVC SDR 26 (8'-10')	222	LF	\$60.42	\$13,413.24
33	Manholes (0'-6')	2	EA	\$6,616.28	\$13,232.56
34	Manholes (6'-8')	1	EA	\$8,339.71	\$8,339.71
35	Manholes (8'-10')	1	EA	\$9,803.75	\$9,803.75
36	LS Receiving Manhole (8'-10') Coated	1	EA	\$14,137.39	\$14,137.39
37	Pump Station Complete	1	LS	\$460,000.00	\$460,000.00
38	Gravity Sewer Testing	922	LF	\$9.05	\$8,344.10
39	4" PVC C-900 Force Main	1,840	LF	\$24.75	\$45,540.00
40	4" MJ 45 Ftg with Restraints	10	EA	\$666.61	\$6,666.10
41	4" x 6" Tapping Sleeve and Valve	1	EA	\$7,506.83	\$7,506.83
42	Force Main Pressure Testing	1,840	LF	\$2.88	\$5,299.20
43	Stabilized Roadway	930	SY	\$10.56	\$9,820.80
TOTA	ÀL .				\$640,607.18

WATER DISTRIBUTION

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
44	8" PVC C-900 Water Main	100	LF	\$75.67	\$7,567.00
45	12" PVC C-900 Water Main	1,150	LF	\$104.42	\$120,083.00
46	12" MJ 45 Ftg with Restraints	4	EA	\$2,107.63	\$8,430.52
47	12" x 4" Tee Ftg with Restraints	3	EA	\$1,331.11	\$3,993.33
48	12" x 8" Tee Ftg with Restraints	3	EA	\$1,461.97	\$4,385.91
49	12" x 8" Cross Ftg with Restraints	1	EA	\$1,645.65	\$1,645.65
50	4" Gate Valve with Restraints	3	EA	\$2,542.75	\$7,628.25
51	8" Gate Valve with Restraints	5	EA	\$4,132.79	\$20,663.95
52	12" Gate Valve with Restraints	2	EA	\$7,130.00	\$14,260.00
53	4" End Cap with Restraints	3	EA	\$286.30	\$858.90
54	8" End Cap with Restraints	3	EA	\$445.91	\$1,337.73
55	Temporary Water Service Connection (HCUD Detail #42)	1	EA	\$1,725.00	\$1,725.00
56	Cut and Connect to Existing Water Main	4	EA	\$8,674.07	\$34,696.28
57	Water Testing/Chlorination	1,250	LF	\$4.27	\$5,337.50

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
TOTAL					\$232,613.02

ROAD CONSTRUCTION

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
58	12" Type B Stabilized Subgrade	2,920	SY	\$2.95	\$8,614.00
59	8" Limerock Base	2,920	SY	\$13.35	\$38,982.00
60	1-5" Type SP-12.5 Asphalt (Traffic Level C)	2,920	SY	\$10.17	\$29,696.40
61	1" Type SP-9.5 Asphalt (Traffic Level C)	2,920	SY	\$6.90	\$20,148.00
62	Drop Curb	1,100	LF	\$15.53	\$17,083.00
63	Valley Gutter	130	LF	\$28.75	\$3,737.50
64	Sod R/W	7,600	SY	\$2.65	\$20,140.00
65	5' Concrete Sidewalk (3,000 psi/4" thick)	19,332	SF	\$7.48	\$144,603.36
66	Curb Ramp with Tactile Surface	4	EA	\$747.50	\$2,990.00
67	10' x 10' Concrete Pad (3,000 psi/4" thick)	2	EA	\$977.50	\$1,955.00
68	Seed and Mulch R/W, Easements	8,900	SY	\$0.30	\$2,670.00
69	Striping/Signage	1	LS	\$6,376.75	\$6,376.75
TOTA	Ĺ		•		\$296,996.01

GOPHER TORTOISE RELOCATION

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
70	Gopher Tortoise Survey & Permitting	1	LS	\$3,268.30	\$3,268.30
71	Gopher Tortoise Burrow Excavation	18	EA	\$230.00	\$4,140.00
72	Gopher Tortoise Relocation	10	EA	\$6,737.08	\$67,370.80
TOTA	NL				\$74,779.10

ESTIMATED TOTAL OF ALL UNIT PRICE WORK

One Million, Eight Hundred \$(1,894,666.20)

Ninety-Four Thousand, Six

Hundred Sixty-Six and 20/100

(use words) (figure)

ARTICLE 5 - PAYMENT PROCEDURES

5.01 Submittal and Processing of Payments:

5.01.1 Vendor/Contractor shall submit Applications for Payment in accordance with solicitation Section Titled "SPECIAL CONDITIONS", paragraph 21. Titled "Payments to Contractor and Completion", subparagraph B. titled "Progress Payments", subparagraph 1 titled "Application for Payments:, item A. Applications for Payment will be processed by Owner Designated Representative as provided in the Contract Documents.

5.02 Progress Payments; Retainage:

- Owner shall make progress payments on account of the Contract Price on the basis of Vendor/Contractor's Applications for Payment not later than the time periods established by applicable provisions of the Florida Prompt Payment Act, Part VII, Ch. 218.735, F.S. (current version), during performance of the work as provided in paragraphs below. All such payments will be measured by the Schedule of Values (and in the case of unit price work based on the number of units completed) or, in the event there is no schedule of values, as provided in the General Requirements:
 - 5.02.1.1 Progress payments will be made in an amount equal to the percentage indicated below but, in each case, less the aggregate of payments previously made and less such amounts as Owner Designated Representative may determine or Owner may withhold, including but not limited to liquidated damages, in accordance with the Contract Documents:
 - **5.02.1.1.1** Ninety-five percent (95%) of work completed (with the balance being retainage); and
 - **5.02.1.1.2** Ninety-five percent (95%) of cost of materials and equipment not incorporated in the work (with the balance being retainage).

5.03 Final Payment:

- Upon receipt of the final Application for Payment accompanied by Owner Designated Representative's recommendation of payment in accordance with solicitation Section Titled "SPECIAL CONDITIONS", paragraph 21. Titled "Payments to Contractor and Completion", subparagraph B. titled "Progress Payments", subparagraph 1 titled "Application for Payments:, item A, Owner shall pay Vendor/Contractor the remainder of the Contract Price as recommended by Owner Designated Representative, less any sum Owner is entitled to set off against Owner Designated Representative's recommendation, including but not limited to liquidated damages.
- Final Payment, constituting the entire unpaid balance of the Contract Sum, shall be paid by the Owner to the Vendor/Contractor when the work has been completed, the Contract fully performed, NPDES FDEP Notice of Termination (NOT) has been delivered to the Owner Designated Representative and a final Certificate for Payment has been issued by the Owner Designated Representative.

ARTICLE 6 - INTEREST

6.01 All moneys not paid when due shall bear interest at the maximum legal rate.

ARTICLE 7 - VENDOR/CONTRACTOR'S REPRESENTATIONS

- 7.01 In order to induce Owner to enter into this Agreement Vendor/Contractor makes the following representations:
 - 7.01.1 Vendor/Contractor has examined and carefully studied the Contract Documents and the other related data identified in the Bid Documents.
 - **7.01.2** Vendor/Contractor has visited the site and become familiar with and is satisfied as to the general, local, and site conditions that may affect cost, progress, and performance of the work.
 - **7.01.3** Vendor/Contractor is familiar with and is satisfied as to all Federal, State, and local laws and regulations that may affect cost, progress, and performance of the work.
 - 7.01.4 Vendor/Contractor does not consider that any further examinations, investigations, explorations, tests, studies, or data are necessary for the performance of the work at the

Contract Price, within the Contract Times, and in accordance with the other terms and conditions of the Contract Documents.

- **7.01.5** Vendor/Contractor is aware of the general nature of work to be performed by Owner and others at the site that relates to the work as indicated in the Contract Documents.
- 7.01.6 Vendor/Contractor has correlated the information known to Vendor/Contractor, information and observations obtained from visits to the site, reports and drawings identified in the Contract Documents, and all additional examinations, investigations, explorations, tests, studies, and data with the Contract Documents.
- 7.01.7 Vendor/Contractor has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Vendor/Contractor has discovered in the Contract Documents, and the written resolution thereof by Engineer is acceptable to Vendor/Contractor.
- **7.01.8** The Contract Documents are generally sufficient to indicate and convey understanding of all terms and conditions for performance and furnishing of the work.

ARTICLE 8 - MISCELLANEOUS

8.01 <u>Terms</u>:

8.01.1 Terms used in this Agreement will have the meanings stated in the Contract Documents.

8.02 Assignment of Contract:

8.02.1 No assignment by a party hereto of any rights under or interests in the Contract will be binding on another party hereto without the written consent of the party sought to be bound; and, specifically but without limitation, moneys that may become due and moneys that are due may not be assigned without such consent (except to the extent that the effect of this restriction may be limited by law), and unless specifically stated to the contrary in any written consent to an assignment, no assignment will release or discharge the assignor from any duty or responsibility under the Contract Documents.

8.03 Severability:

- 8.03.1 Any provision or part of the Contract Documents held to be void or unenforceable under any law or regulation shall be deemed stricken, and all remaining provisions shall continue to be valid and binding upon Owner and Vendor/Contractor, who agree that the Contract Documents shall be reformed to replace such stricken provision or part thereof with a valid and enforceable provision that comes as close as possible to expressing the intention of the stricken provision.
- 8.04 This Agreement may be executed in several counterparts, each of which shall be an original and all of which shall constitute but one (1) and the same instrument.

ARTICLE 9 - CONTRACT PAYMENT

9.01 The County agrees to pay the Vendor/Contractor for the faithful performance under this Contract for the agreed amount of One Million, Eight Hundred Ninety-Four Thousand, Six Hundred Sixty-Six and 20/100 Dollars (\$1,894,666.20) and is based on the lump sum prices contained herein and subject to additions or deductions as modified.

OWNER:	VENDOR/CONTRACTOR
HERNANDO COUNTY BOARD OF COUNTY COMMISSIONERS	GOODWIN BROS. CONSTRUCTION, INC.
	StOTool
By: JOHN ALLOCCO	By: DANIEL RAY GOODWIN, JR.
Title: CHAIRMAN	Title: PRESIDENT
[CORPORATE SEAL]	[CORPORATE SEAL]
	Ton Chiang
Attest: Douglas A. Chorvat, Jr.	Attest:
Title: Clerk of Circuit Court & Comptroller	Title: Prespect manager/FSTI moron
Address for giving notices:	Address for giving notices:
15470 Flight Path Dr.	P.O. Box 1689
Brooksville, FL 34604	Brooksville, FL 34605-1689
	Agent for service of process:
	(If Vendor/Contractor is a corporation or a partnership, attach evidence of authority to sign.)